NAME: 08/18A19B/2016

ASSIGNMENT: Arithmetic Series
DIRECTIONS: Use the formulas below and have fun!

u =u +(n-0d S, =§(2ul +(n—1)d)=g(ul tu)

1. [Maximum mark: 7]

In an arithmetic sequence u,, =—37 and u, =-3.

[3 marks]
(a) Find

(1) the common difference:
(11) the first term.

(b) Find S,,.

2.) [3 marks]

In an arithmetic sequence the second term 1s 7 and the sum of the first five terms is 50
Find the common difference of this arithmetic sequence.




NAME: 08/18A19B/2016

3.) [Maximum mark: 6]

Let u,=3-2n.

(a) Write down the value of u, . u,. and u, . [3 marks]
20

(b) Find 2(3 —2n). [3 marks]
n=1

4.

In an arithmetic series, the first term 1s —7 and the sum of the first 20 terms is 620.
(a) Find the common difference. [3

(b) Find the value of the 78™ term. [2
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Answer key: you must show steps and calculations to receive full marks.

1.)ai:d=-2
aii: Ui =3
b: S10 =-60

2)d=3

3)a:ui=1;u2=-1;uz3 =-3

20
b: 3 -360

n=1
4)a:d=4

b: u7s = 301



